ERUYOS 2017

(a — b)3 az—bz_?
a?+ab+b?2 (a+b)?
(a—b)? & (a—b)?
a? +ab + b2 )

Aa+b  B)

(a—b)3-(a+Db)
a5 |8

D) E)a—b

2. V15:17-19-21+16="7?
A)324 B)225 (€)319 D)220 E)219

Vx—8

:}Lrgxtiff_z;:’

A0 B)o C€)> D) E)3

a3 — b3

Hx+1 4 ex—3

4, lim——— =2
o 4m* + 21

1 T
A0 B)o C)- D)= E)—
0 By O3 D)y 4¢3

5
5. J’(3x2+;+ ex)dxz?

A)x3 +nx +e*+c

2x

e
B)x® + 5lnx .
3
C)EX3 + Inbx + e* + ¢
D)x® + 5lnx +e* +c¢

2
E)§x3 +5nx +e*+c



ERUYOS 2017

2 N 4 1
log,6 logs6 logxé_

= x =7

A6 B)18 ()36 D)12 E)24

7. 112=14+345+--+21
92=1+4+3+5++x
— =

A)21 B)9 C€)10 D)17 E)19

o (303 )

9. 3, 8 23, x, 203, y
=12

A)542 B)543 (€)540 D)545 E)541

10. WVx+2—vx—2=4
Vvx+2+vVx—2=7

A4+A BA-A OF D)

TS

E)4A

11. f(x® +2x) =3x% +6x + 17

= fil8) = ¢
A)24 B)31 ()23 D)25 E)41

1-D 7-D
2-C 8-C
3-D 9-C
4-D 10-D
5-B 11-E

6-C



